H & 0l & AHS B Ml A

20238 20ilaF Letal A JIE X2
SA OGN
M SAJEM X
Cel: SAJIYH SEXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
JIg X2 ot 22,958,150 20,486,041 2,472,109
= 54,450
== 478,650
Al 22,425,050
S2JIgHM X2 8,948,355 2,258,798 6,689,557
= 143,580
Al 8,804,775
SAIIHH SN 8,170,008 1,338,933 6,831,075
=S 143,580
Al 8,026,428
saJ|g 2dst 221,280 215,280 6,000
201 et 3| 17,000 22,000 /5,000
01 AtR2tc|bI 14,000 19,000 25,000
OSAIILMNS S22 M
20,000 *500% 10,000
OAIHEHS & 2t53 S5 =57 2,000
OZAY 84 2208 WSS 7Y 2,000
02 S3=gHl 3,000 3,000 0
OJigid2s 2uR=s 3,000
202 04| 5,280 4,280 1,000
01 =LHO LI 5,280 4,280 1,000
OsAJY SdXId & S5t e ys
ol 5,280
203 HE=H] 3,000 3,000
03 A= PR FAI| 3,000 3,000
OIIUXY AHAR =X 3,000
301 eEetE2 N = 168,000 158,000 10,000
4Bt 2as 168,000 168,000 10,000
Ofetdel=s 1,000,000 +50& 50,000
OLSkt ded=x=
100, 000& #4572 %12JH 2450, 0002 *90 0+ 1+ 1
2HE 108,000
OsMIY MANLH EASE K2
2,000,000 *57H At 10,000
307 gl2to| & 28,000 28,000
02 2B YAIHE A 20,000 20,000
O=U2l JHE =&sl I
2,000,000 103! 20,000
12 QIZHQI R € = H| 8,000 8,000 0
Oy |4 X128 29
2,000,000& *42] 8,000
SAJHHNE AL 90,000 163,000 263,000
= 27,000
Al 63,000




1

JIS K&
=ESIEPIBE
=ESIEPIE YO (e
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
402 QI2F X201 & 90,000 163,000 263,000
= 27,000
Al 63,000
02 QI TH=AIEEE(0IETHE) 90,000 153,000 263,000
OsJ1gY gid 90,000
= 27,000
Al 63,000
EeDIg JelEBAAY 25 NBAMS 15,000 15,000 0
403 AXIEHHS X201 15,000 15,000 0
02 S 2SS0t st = & 2 €A | 15,000 15,000
Oellgy Jlatd3AAE A= K3 A 15,000
Al s3HX S2HA AR XAE (HEAIY) 168,600 202,000 A\43,400
= 47,580
Al 111,020
201 Ler=23| 158,600 202,000 A\43,400
= 47,580
Al 11,020
01 AtR2te|HI 158,600 202,000 A\43,400
S3HA S2HA A2 168,600
=S 47,580
Al 111,020
s3HA 243t XA 172,500 218,173 N45,673
& 69,000
Al 103,500
301 EtE NS 172,500 218,173 N45,673
= 69,000
Al 103,500
14 DBt 2 a=S 172,500 218,173 N\45,673
O=s3HX 2435 XA (EFH S XIE) 172,500
= 69,000
Al 103,500
ST JIssAb SR XIZ ALY 300,000 200,000 100,000
301 22N = 300,000 0 300,000
4 JIE2 8= 300,000 0 300,000
OL=SAt JI=sAL SR X122 AHS 300,000
XSS SEEHE A 6,372,628 0 6,372,628
401 Al HIZL 201 6,372,628 0 6,372,628
01 Al&H| 6,356,697 0 6,356,697
OZXl M1 2582 SEEHHH A A
(BHI28=2 MEd)
2,670,628,000& *99.75% 2,663,952
OZXl M1, 2s3EHA St A8 A
(AlHI2E2) 8,702,000,0002499.75% 3,692,745
— 2 —




SA: QTR
M SAJEM X
Cel: SAJIYH SEXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A& S CHYI 15,931 0 15,931
OZXl M1 2582 SEEHHH A A
(BHI=282 MEd) 6,676
OZXl M1,2s3HA SEE3dE A8 A
(AHIRE=2) 3,702,000,000& +0.25% 9,255
=UHel 204 XI& 400,000 80,000 320,000
301 22N = 300,000 30,000 270,000
14 JIEt2 = 300,000 30,000 270,000
Os4J1g8 =74l A2 AL 300,000
308 XHXIEMSO0IH 100,000 50,000 50,000
1 SIS0 A AS A 100,000 50,000 50,000
=ZEAE 0BHIE XA 50,000
OsaJIY =2ctel EE IPIE XA 50,000
AH(S3)EX HE HE 440,000 0 440,000
401 AIEHIZL SR THY] 440,000 0 440,000
01 Al&HI 440,000 0 440,000
OFXetE XEE tA(s3)SX HE B3
20,000, 00024 %7 HEHKI (S REHX) 140,000
OSTHEZ ABY U(SB)SN HE B
300,000,000 *1JHEHXI (A EHT) 300,000
SHEER 22X A= A 778,347 919,865 A 141,518
AHHER 22X HEFE A 778,347 919,865 141,518
401 Al HIZ S OHYI 227,000 0 227,000
01 Al&H| 205,366 0 205,366
OARITIX 22X B2 012 EXE X
a3At 227,000,000 *99.28% 225,366
03 Al 20HHI 1,634 0 1,634
OAtHEX] 22X S8 212 FXUHE £
dSA 1,634
403 AXIEHMSAH=0lE 551,347 919,865 368,518
02 SISOt =2 A P E A I 551,347 919,865 A368,518
O4tgetXl 22X =58 AHBUEER) 561,347
MNees 450,000 450,000 0
WA XIE 450,000 450,000 0
SMINHFEII= 450,000 450,000 0
R I1sdES 450,000 450,000 0
01 JIsdES 450,000 450,000 0
OsXIIgsdIIs d&Es 450,000
dEfat AE 7,368,780 9,058,002 1,689,222
= 54,450
= 50,070
Al 7,264,260
e StEE SAH 1,843,650 8,687,250 6,843,600
s 53,550




SA OGN
B mahiel WE
el WBH HTE 22iAf (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 9,820
Al 1,780,280
Zigtd stEE SaAH x4 1,161,000 951,910 209,090
201 er23 | 8,200 8,200 0
01 At2teltl 8,200 8,200 0
Odgt+==H| 8,200
202 04dl 3,800 3,800
01 2L AL 3,800 3,800
O34ty JIg =Xl 3,800
306 E= 1,149,000 939,910 209,090
01 £g= 1,149,000 939,910 209,090
O(M) 2 AISHES LS HEH 2SR
Ejuls] 1,149,000
SEE FYLT A HA oE XY (KNAFEEH) 102,650 191,340 188,690
= 53,550
< 9.820
Al 39,280
307 elztol & 102,650 190,340 A\87,690
= 53,550
=S 9,820
Al 39,280
02 QIS ER 102,650 190,340 A87,690
OxEEY bl X 55,350
[ 33,7850
= 4,320
Al 17,280
OgldEl= 47,300
[ 19,800
= 5,500
Al 22,000
SHYE KAMPEEH =24 230,000 7,214,000 6,984,000
308 AFAIEHMSOIE 230,000 214,000 16,000
11 SI[2S0He 4 EAS A 230,000 214,000 16,000
ORXIAAAHIE Al 22| 2 210,000
OXAMAHE S 20,000
FEHZAAHEL(THIAEXH) 250,000 250,000 0
306 £= 250,000 250,000
01 8d= 250,000 250,000
Ostd s 24 2 JI=8d XM (X
INVIEL=E=) 250,000
SEEIIY EHSiPiE SAUXA(ZH AEXE) 100,000 0 100,000
306 E= 100,000 100,000
01 £g= 100,000 100,000
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A JIEXE

B exexl 2ol ¥ N
tel: EXKXI2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OutHEHl| 2LEE= fER=s
300,000& *100H& 3,000
202 04dl 10,450 10,450
01 2L AL 10,450 10,450
OF =X gf=d 10,450
NN =R 4,107,359 3,355,359 752,000
201 2= 14,509 14,509 0
01 At22t2l] 14,509 14,509 0
ROl RS BAY
70,0002 * 102 +32] 2,100
OJIgalg8d e aolgolgs
220,000 x12| 6123 2,640
OEXNExS 2HES+=2
2,000,000 #34] 6,000
OJIHETFX HRFH =ZH| 3,769
202 04l 2,850 2,850
01 2LHoIH 2,850 2,850
OJlgael & Aa=a 2,850
203 HR=4Y] 2,000 2,000
03 A= PR FA| 2,000 2,000
ENESPNINES S 2,000
301 EtE NS 340,000 330,000 10,000
14 0Bt 2as 340,000 330,000 10,000
EIDIGNE EXS(SRH, LEEX3) 340,000
303 Zaf= 6,000 6,000
01 Za= 6,000 6,000
OFANRI 2+FA & 73 2o 6,000
402 2I2F X201 & 2,600,000 3,000,000 A400,000
01 QI X2 AL E R (KEHTHE) 2,600,000 3,000,000 400,000
OFIIEXNE EX= 2,600,000
802 gret=JIEt 1,142,000 1,142,000
01 =2N2xSeE=s 972,000 972,000
ONgENSHELS =4| et 972,000
02 Al - HIEXSEES 170,000 0 170,000
ONZLENSIELZ &H| et 170,000
AFAEX] 22l 2,023,306 5,237,132 23,213,826
=S 285,000
Al 1,738,306
Algared O 2,023,306 5,237,132 A3,213,826
< 285,000
Al 1,738,306
LOHAA ST =M 301,446 3,298,572 A2,997,126
101 @124H| 11,544 8,670 2,874




2A:

JIg X2t

3 MASA 2l
Rl X2t ofe EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M ORNZZENSE S 11,544 8,670 2,874
OL8l LUHHITR| oE2Y
192,4002 x 102 22/ 3 11,544
201 er=23y| 35,402 36,402
02 S3=gHl 35,402 36,402
O LUHMACHT] AIZHHEXIE IR
S(4H) 53,0002 +40H A+ 1201 2,544
OE@ duridc] 28 MII23(18AH)
40,0002 x1824* 1204 8,640
OEd e E] Jt2S |2l
35,0002 24156/ 12 4,218
Ogd LERPE = +XCIME R
Alzell 20,000,000& * 14! 20,000
202 04| 4,500 4,500
01 =LHO LI 4,500 4,500
OHel LUHiITXRe| YDREX
4,500,00021 14! 4,500
401 AIEHIZ2OHb] 250,000 3,250,000 3,000,000
01 Al&H| 248,110 3,250,000 A3,001,890
O UBMIET ST U B4
50,000,000 *141%99. 1% 49,550
Ogd LERPEX MFX 22 SAt
200,000,000 *141%99.28% 198,560
03 Al CHYI 1,890 0 1,890
Ol YUHIACHT KX U 24
50,000, 000& *141%0.90% 450
Ogd LerMAET MFX 22 SA
200,000,000 *141%0.72% 1,440
e ZEhE SBH XM2lAE EXIAY 548,900 660,000 A111,100
201 2= 110,000 110,000 0
2 S52g4l 110,000 110,000 0
Ogd detMAEI SSHEX2IAIE &)
2= 6,250,000& * 1294 E 75,000
Ogd et SSHXCIAIE HY|
= XclE4 15,000,0002*14] 15,000
Ogd LeERHEX SSH=XCIAE |X
2teldl 20,000,000 * 14! 20,000
307 elztol & 428,900 428,900
05 2IZtRAE = 428,900 428,900
Ogd LErMAEI SSH=XCIAIE el
e 2gdcl 29 428,900,000 x 14 428,900
405 AtatE = 10,000 20,000 10,000
01 ML ESFSHI 10,000 20,000 10,000
2l APARET] BBHAHINE 2F
- 5,000
OHMEH| P 1,000




2A:

JIg X2t

M pelcr] 2
Rl X2t ofe EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
MBS 2 1,000
sag, dis S 3,000
Ogd etatAHI SSH-HMelAlE FH
2 EE&)| 7Y 5,000,000 * 14! 5,000
sS3HA AlE B 2 2l 602,960 718,560 A115,600
201 B2 AL| 82,400 79,000 3,400
01 ArR2eltl 20,400 0 20,400
O&rACHT] HEXIS(5E) ARtz
6,800,0002 x1CH*3IH & 20,400
02 32| 62,000 79,000 A17,000
Ot 2323
3,500,000 * 12042 42,000
O/ HX A7 2AIE SXI&2| 20,000
202 04d| 2,560 4,560 A2,000
01 =WOdbI 2,560 4,560 A2,000
O/ HI] S| MEF=R 2,560
401 A& BIZ20HLI 518,000 625,000 A107,000
01 Al&Hl 514,328 622,984 A108,656
O&rA X HIE2E Aldztel 21,000
O QAT WA MZE H)|IHHEHE
B 6,000,000 »x23| 12,000
O{rA X 272 =6 S 2elt|
15,000,000 *7JH &t X1%99. 28% 104,244
OQAHR =XKX S +=SHHISA
20,000,000 74 &+ X[+99. 28% 138,992
OLrAEHX =2 EE3A
20,000,000 *7 1 & X[+99.28% 138,992
OQrA X 21 & S2EZF FHIZA
10,000, 0002 *571 €t X1 %231%99. 1% 99,100
03 Al CHHI 3,672 2,016 1,656
Ot A 7E = 5 2eld|
105,000,000& *0.72% 756
O/ =XK1 =SHHISA
20,000, 000 *7IH &t XI*0.72% 1,008
OMASX =2 EESAt
20,000, 000 70 = XI*0.72% 1,008
Oard el o1 & S2EE FHISA
100,000, 000& *0.90% 900
SRR TSHLHY(MEH (MEAIY) 570,000 560,000 10,000
& 285,000
Al 285,000
401 Al HILS0HY| 570,000 560,000 10,000
= 285,000
Al 285,000
01 Al&HI 566,409 560,000 6,409




2A:

JIg X2t

3 MASA 2l
cHels Ngarg i (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OEd 2 =3 2SS wHMA
570,000,000& *99.37% 566,409
= 285,000
Al 281,409
03 AIESTHYI 3,591 0 3,591
Ogd AU ==s3HA IS WMAE
570,000, 000& *0.63% 3,591
BH2IBHIOIBXE L) 21,900 21,300 600
J12Z28I(01Z X1 21,900 21,300 600
J123HI(JIZ XDt 21,900 21,300 600
201 er23| 14,800 14,800
01 AtR2t2|HI 14,800 14,800
Odgt==d| 10,200
O3JI138)| dEg 1,000
Od=)| dEa 50,0002 12042 600
O=2| 3,000
202 0o4dl 3,500 3,500
01 2L AL 3,500 3,500
OJIE XA HRFX o] 3,500
203 =4l 3,600 3,000 600
M EASHLRFAH 3,600 3,000 600
ORNSgE =AY 300,000+ 122 3,600
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